
Grey Green Gold

3 x 4 x 11 = 4 x 6 x 10 = 5 x 7 x 11 =

What is DCLV? What is MCDLXXI? What is CMLXXVIII?

Round 1.56 to the nearest 
whole number =

Round 2.375 to the nearest 
whole number = 

Round 12.56 to the nearest 
whole number =

3

8
of 48 = 

3

8
of 64 = 

3

8
of 96 = 

5² = 8² = 9² = 
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7
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7
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2

14
= 

8424 ÷ 26 = 13959 ÷ 33 = 15916 ÷ 46 = 

72 x 5 = 84 x 5 = 96 x 5 = 

What is the value of the 
underlined digit? 6524

What is the value of the 
underlined digit? 8652

What is the value of the 
underlined digit? 17741

345 + 200 = 1654 + 320 = 3753 + 1124 = 



Grey Green Gold

3 x 4 x 11 = 132 4 x 6 x 10 = 240 5 x 7 x 11 = 385

What is DCLV? = 655 What is MCDLXXI? = 1471 What is CMLXXVIII? = 978

Round 1.56 to the nearest 
whole number = 2

Round 2.375 to the nearest 
whole number = 2

Round 12.56 to the nearest 
whole number = 13
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8
of 48 = 18

3

8
of 64 = 24

3

8
of 96 = 36

5² = 25 8² = 64 9² = 81
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8424 ÷ 26 = 324 13959 ÷ 33 = 423 15916 ÷ 46 = 346

72 x 5 = 360 84 x 5 = 420 96 x 5 = 480

What is the value of the 
underlined digit? 6524 = 2 
tens 

What is the value of the 
underlined digit? 8652 = 8 
thousand

What is the value of the 
underlined digit? 17741 = 7 
hundred 

345 + 200 = 545 1654 + 320 = 1974 3753 + 1124 = 4877


